MATHS by MANQJ JGOSHI

Mar ks: 87 Subj ect : 10t h- MATHS Dat e:
Chapter: 15 Std 10 Maths -Chep 15 - MCQ Ti me:
[A] <A 21al ¥ vaicd As] uRD [Asel wie 53). (UASC A d1er) [87]
1 neaadl R¥EIfGen w #2 <A Us) .......... AcA ot2il
A) 2x + Z =3M B) 2x -3M = -Z C) Z=3M-2Xx D) 2x =7Z-3M
2. s vgfd-laarepii sa dugld 50, Xf;x; =122, dl x eNel.
(A) 244 (B) 0.244 (C) 244 (D) 2.44
3. vgRi-ldazerii dwda A ............. ol Juduicis qpid B.
A) sl Auledl (B) 2uglt (C) adi{lL (D) A2l >ugfa
4. wfddlei AvucA adel Y 5d UM ........... .
(A) olgas (B) Hewra (C) Hwus (D) QLRI HEs
5 91 wRd 42 M+X=22 3d M-X=2 A A Z= ........ .
(A) 16 B) 15 © 14 (D) 12
6. uNa WA 12 (g—cf ) = e 211
ad( 0-10/10-20{20-30|30-40{40-50
gk 5 15 13 17 10
(A) 20 (B) 30 (O 10 (D) 25
7. A n=2002fd;, =0 v A=25&lA d X = ........
(A) 5 (B) 25 (C) 15 (D) 10
8. s wilgd Hlédlel ueas 11.5 3. A Zfix; = 460 &1, dl 5d urdislell iva .......... 9.
(A) 2645 B) 27 (C) 40 (D) 142
9. A5 dgld-laarepii sa sugld n = 100 1 If,x; = 245 &1, dl Heas X ol Bud Sedl aa ?
(A) 245 (B) 245 (C) 0.245 (D) 2.45
100 X +M=4531ad x —M=1581R, dl Z= ......
(A) 25 B) 17 ) 15 (D) 30
. _ Xfu; .
11, seasdi Y4 X = A + XCH C= ees
A) [daan (B) adl (C) asldouss (D) “Rel 15
12. As HIlEdlel HeAs 22 D. N €35 undisHi 3 GAI 5 dd e A, Al ddl X = ...
(A 5 (B) 8.4 (C) 87 (D) 516 83 4 ul.
13. AM+ X =44 3ad M- X =2, dl 6igds Z = .........
(A) 23 (B) 27 ©) 21 (D) 25
14 A n=100,A=1530 X =15 &R, d Xfid; = ...........
(A) 15 B) 0 (C) 100 (D) -15
15.  uRuRcli i vueel am s5d B ?
A) Hus (B) ezl (C) olgds (D) s el -l
16. s wlédl w2 3x = 2M = 60 &M, dl cigas 2.
(A) 40 (B) 60 (G 90 (D) 50
17. Nl Sla 226l AR SEapii v B ?
(A) olgas (B) M2 (C) us (D) »isual «dl.
18. s dgli-laazepii a sugfa 50 Ja Ifix; = 360 &, dl Heasdll Bud .......... 2L
(A) 7.2 (B) 0.72 (C) 3.6 (D) 0.36
19. A As HilEdlon undis) 3, 2, 1, 4 Ja x ol HeASs 3.2 &R dl x ol Bud Sedl ?
(A) 16 (B) 6 Q 26 (D) 36
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S1d aNdely As Raila (532 Aucl Aeildi dlda [GSedl 2iven 4, 5,6, 3,4,0, 3, 2,3,5 a8 d

Hldlel cigds ............ 2121,
A) 5 (B) 4 < 3 (D) 2
As gl [Aazer w@ X fiu; = -50, n =100, ¢ = 10 31 X = 25, dl aRdl Heas A = ...
(A) 50 (B) 30 (C) 40 (D) 20
Z(xi— X) o A = ...
A) 10 B) x Q) 2x; D) o
0.05, 0.50, 0.055, 0.505 Jial 0.55 ol HEARA ....... .
(A) 0.505 (B) 0.055 (C) 0.50 (D) 0.05
ueas XY=A+ Zift_li ot Wpii d; = ...

1
(A) A-x; B) f;i-A ©) A-f, (D) x;,—A
As gl [Aazer @2 X fu; = -50, n = 100, ¢ = 10 31 X = 25, dl ardl Heas A = ...
(A) 50 (B) 30 (C) 40 (D) 20
Wlgdlot vaalsal 12, 13, x, 17, 18, 20 ol ueaAs 16 B, dl x ¢l Bua 2Me.
(A) 36 (B) 16 (C) 26 (D) 46
AM+ X =44 3l M- X =2, dl oigds Z = .........
(A) 23 (B) 27 © 21 (D) 25
N n=50,A=20dum Heas X =19.7 &, A Zfd; cil Bua ........
(A) 35 (B) - 15 (C) 15 (D) -35
Sld afddl e N Ifix; =75 va If;=12 &, dl X = ...
(A) 6.5 (B) 5.25 (C) 6.25 (D) 10.5

R 6 ulauiHi ARAA 45 de1 AN &dl. deilonl Rzl deild Anda A2l 201 30 g 51l
oivall dial qeilell As cissl sal ARAA IQelell dteiddl sl cilAepiiell s

del ol ?

(45x6-30) (45x5-30) (45x5-30)
(A) — 6 (B) — 5 (@) — % D) 5
. _ If u; .
Heas Médiei N X = A+ —— X cHl U; = ........ 8.
x.— A
@A) x; - A B) x; + A © D) x;
NZ=26 X =20,dd M = ........
(A) 28 (B) 24 Q 26 (D) 22
AR dURIML ARMRAE HI Sedi & ?
(A) 212 (B) AR (C) uix (D) s
As wilga Wledlel yueas 51.9 8. A Ifid; = 20, n = 100 al ¢ = 20 &, dl arRdl Heas ..
(A) 49.9 (B) 47.90 (C) 53.50 (D) 53.90
A n=100,A=25 % =25 &R, A Zfd;= ...
(A) 20 B) 0 (C) 100 (D) 25
vl ([Aazepii daga A .......... cll JnAuichs yud 1.
A) »uglt B) stall wuledl (C) adl Al
15 undisiell sg2As 18 8. €3s undisyiell 2 ciie s HOdi UNdiSIa 4 dS eidIdl odl HEAS
.......... HOL
A) 4 (B) 8 G 16 (D) 10
sNa Hfédl w2 (g—cf ) = eeeeeen 2121
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adf 0-10{10-20(20-30{30-40{40-50
sugfa 5 15 13 17 10

(A) 20 (B) 30 G 10 (D) 25

R 6 ulauiAi ARiRL 45 el ARl &dl. deilol Ri2i5 dell Anda Ail 2o 30 dEe 51E]
oivall dial qdeilell As oissl sa1 ARAA Jelell dteiddl S7 olRewriell s [Asar deilA Anda ARz
el cidia ?

45x6-30 45%x5-30 45x5-30 45x6-30

A) (X—G) (B) % ©) (ﬁf) D) (><5—)
sgfa-ladepti sada A ............. cll JuAuicis qpud 1.
(A) sl 2uledl (B) 2uglt (C) ad(fl (D) adl ugfz
ol 2ldl wlédlel aigasla adi ... 8.

adf 0-10 10-20 20-30 | 30-40| 40-50

gl 7 15 13 17 10
(A) 10-20 (B) 20-30 (C) 30 -40 (D) 40 -50

dftracll As udlawdi 35 [@eneilA eudt dlel. 15 1A iR 10 el HoAL i 20 YIsABAA
uer a1 10 der HeRw. dNd [Rla uredl oA 2a sd ulddl aeil asA ?

(A) ad(mi lsANHL ALl >He9r .l deal HouL ? (B) vl ad(-l 35 [Qenz(l>i21 qadal oL,
(C) Guasll 28y wledl Aadl asu. (D) ad(i Al ay ol deal Houl ?
wAldd 2€iSdHi Z-M = ...... M- Xx)

A1 B 3 (C) 4 D) 2

g As ss2dlol 30 iRsKElA afis wdiR (am T ui) o wlEdl uell “2i ag” e “eil Mo’
usiRell dvda as Rkd D.

= 35

T

3 30

=

2

%

é 15 (20.5,15) — Series 1
3 /. .
=10 Series 2
S 5

v

0 ———t——— \ |

? 17.5 185 19.5 20.5 21.5 22.5 23.5 24.5

¥ aof Al — s wour

Giad ds) wruR (20.5, 15) Hi 82 9, dl Ju HlEdledl el 2NN

(A) 15 dlu (B) 20.5 dlu (C) 35.5 A (D) 17.75 a4
uepi 10 wiglas ivilell HEAS ......... 8.

(A) 5.5 (B) 55 (C) 27.5 (D) 30

0.05, 0.50, 0.055, 0.505 il 0.55 ol HEAR ....... D.

(A) 0.505 (B) 0.055 (C) 0.50 (D) 0.05
o15asc sidiRlclel vuRMBEA 71 54 B ?

A) Z=3x -2M B)Z=3M - 2x C) Z=2M - 3Xx D)Z=2x - 3M
As qgfd ([Aazerii sa sugld 100 0 Ifx; = 1295 &lA dl Heas 20l

(A) 12.95 (B) -12.95 (C) 1.295 (D) -1.295
uia sfis vadlsal 0, 2, 3, m, 5 ol 6igas 3 &A d m = ...

A 2 B) 0 © 3 (D) 5

oigas Hllédlel ........... ARAA B,

(A) *Rd (B) oLelldr (C) 2au-adl (D) »isual «dl.
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As HlEdlo) HeAs 84 B. A €25 undisHi 3 G 5 dd ewdiapii V1A, dl odl HEAS ........ 21121,
A) 174 (B) 8.4 (C) 87 (D) 16.8

X = # W N = ... 8.

A) Zx; (B) adl-l v (C) n Hl Wkiis D) =f;
NX-Z=3,X +Z=458a, A M= .....

(A) 23 (B) 24 (C) 26 (D) 22

ANs vgli-ladzeri x = 54.3, 3fd; = 2, n = 25 da ¢ = 100 &R, dl ardl 4eas Adl Bud ...........
2121

(A) 54 (B) 53.5 (C) 46.3 (D) 54.5

uia sPis dadlsel 0, 2, 3, m, 5 <l 6igas 3 &R dl m = ...

(A) 2 (B) 0 @ 3 (D) 5
NZ=26 %X =20,d M = ...

(A) 28 (B) 24 (C) 26 (D) 22

N n=100A=203d x =20 &8, Zﬁdi = rveeeens

A) 20 B) 0 (C) 100 (D) -20

N n =200, Xfid; = 0 2 A = 25 &la dl 4&as X oil Bua eded.

(A) 35 (B) 15 (C) 25 (D) 40
n=100%fd;=-1 dt A=15 A T = werruuuen.

(A) 100 (B) 115 (C) 14.99 (D) 11.5

dfBrccll As udlawdi 35 [AeneilAA eudr dlel. 15 Bisdlula i 10 e HoA i 20 YISV

uer 21210 10 dger HeAu. dNd [id Rl ¢l 2la sd HlEdl well asiA ?

(A) Aol isuHL Alell 2ileo1 o1 Seatl wouy ? (B) 2l adl-il 35 [Aenz(l>i2 Hadal ael.
(C) Gursl 201y Huedl wadl asu ? (D) aofui «dledl ay A2 dedl Houl ?

As qgfd [Aarer w2 X = 20, Xfid; = -50, n. = 100 31l ¢ = 10 &A1 A A = ..........

(A) 25 (B) 20 (C) 50 (D) 10

A n=100,A =25 x =25 &2, d Zfldi= ........

(A) 20 B)O0 (C) 100 (D) 25

10
in ~X 6l Bua 3edl ema ?
1

(A) 9% (B) 10x o (D) 19x
wilga WEdlel ueRa 2Naal ....... gl Andapii sna 3.

(A) 3w wugla (B) 2l »uqlw (C) s »uqlw (D) xsuL <&l
waldd sddi Z - M = ... M- Xx)

A1 B 3 € 4 D) 2

HiEdlol #HeAs 50 B. N €25 undisdi 10 GAJ 6 a3 ewdidi A, dl odl HEAS ........ 2q121.
(A) 10 (B) 60 (©) 5.6 (D) 50

N n Yu yels &, dl HRRAd YR Sl cricR aRa ?
(A) 1 L Adisrl Yed ORIOR (B) (n + D+l AAdisrl Y4 ORIGR
(C) n 24 (n + D)l 2Aaclstel Yeudl A o6 (D) 2uua Ul sisue 6l

As HIlEdleii 15 Jiadiseilall HeR2d 20 8, A2l Hlédldii ......... Vadlsolleil Bua 20 2l 206 .
A) 7 B) 8 (© 10 (D) 11

S As ss2iloll 30 viAsKElDNn Aifis wdnR (ami T ui) ol WBdl uell “oil ag” va “2l Mor”

usiRell Avda as d 9.
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= 35

3

2 30

z

=

£ 25

3

> 20 .

& 15 (20.5, 15) — Series 1
5 10 — Series 2
g 5

oV

2

z 175 185 19.5 20.5 21.5 22.5 23.5 24.5

” aof il — allfls wour

Giad ds) wruR (20.5, 15) #i 82 9, dl u HlEdledl el 2NN

(A) 15 civ (B) 20.5 cww (C) 35.5 dv (D) 17.75 4x
s1d oNdel? As Earila (552 Nl Aellui dlda [aSedl 2iven 4, 5, 6, 3, 4,0, 3, 2,3,5 a&a d
Hilddlell cigas ............ AL,

(A) 5 (B) 4 © 3 D) 2
oilAciiail ........ A ueAadl R3Alcriclo] 3y o2l

(A) uus (B) M2l (C) olgas (D) (AR

S1g wledl w2 M+X=22 s3d M-X=2 aa d Z= ......... .

(A) 16 B) 15 G 14 (D) 12

As Hdlodl ueAs 84 B. A €35 undisHi 6 GBI 9 a3 ewidpi A Al adl HfEdlell ueas
.......... 2121

(A) 90 B) 99 (C) 10 (D) 20
Bddlselloll Hei dddl Budal .......... s& 3.

(A) 4s (B) 1eae (C) lgds (D) otk HUs
NAM=26 x =36,d Z-= ...

(A) 6 B) 5 Q) 4 (D) 3

ARl vugfa as eRal e Y-u2 uR ... Qart 9.

(A) ue [Bud (B) ixdl »uglt (©) ad(l Gl (D) w4l
sgfi-fadazer .......... wlidonday] &l AR Gigascl vRiEa el GuAdd1 ara 8.

(A) v~ (B) 1™t (C) 2adl-2ddl (D) >Uld €35
ANs dugld [Aazerii sa dugld 25 sa Ifix; = 120 &a A dugla ([Aarecn Heasedl Gud ..........
(A) 4.8 (B) 0.48 QG 24 (D) 0.24

vical Bsiaion Jgi-ldder i AAAe] A 4 Y ?

(A) MY (B) oigas (C) Heus (D) deldR Hes
HERAS 3?=A+¥ ol 0l d; = ......

(A) A-x; l (B) fi-A ©) A-f; (D) x;-A

Sld afddl e A Ifix;=75 val If;=12 &la, dl X = ...

(A) 6.5 (B) 5.25 (C) 6.25 (D) 10.5

ANs sgli-laazeri ga sugki 100, Ifix; = 244 8, dl X = ...

(A) 2.44 (B) 24.4 (C) 1.22 (D) 12.2

ARl gl as €lar w2 Y-uia uwR ... Aar 8.

(A) HalEud (B) udl 2uqfa (C) adi-l Guex{lan (D) 2uglk

ANs dgld-laazeri X = 54.3, Xfid; = 2, n = 25 a2n ¢ = 10 &la dl ardl 4€as A ol Bua 204
(A) 535 (B) 5.35 (C) 53.5 (D) 0.535
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undisioll seasHill dldl [CRidolell UdION EN2AL ......... &la 9.

A1 (B) -1 o D) 2n[FAaFd

sld afddl we oigas Z = 25 va weAs x¥ = 25, dl Hera M = ...

Ao (B) 50 ©) 25 (D) 75

seaddl Ralden s w2 <A Vsl .......... AcA oi2il.

A)2x +7Z =3M B) 2x -3M = -Z (C Z=3M -2Xx (D) 2x =7Z-3M
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